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Chapter 3
Degeneracy

Page 29, the below three display equations were wrong

CZ 6$1—4I2
w1 =0+921 +4 22
w2=0—4x1—2:v2

w3=1 — X2.
CZ 6$1—4$2
w1 =0+ € +921 +4 2o
w2:O + €2 —4$1—2I2
w3y =1 + €3 — To.
C: - 1.5w2+ €To
w1 =04+ €1 +2.25¢9 —2.25wo — 0.5 29
1 =0 +0.25 €9 —0.25wo — 0.5 29
wz =1 + €3 — 9.
should be replaced by
CZ 6$1+4I2
w1 =0+9x1 +4 2o
w2=0—4x1—2:v2
w3=1 — X2.
(= 6x1+4xo
w1 =0+ €1 +9z21 +4 29
w2:O + €2 —4$1—2I2
wg =1 + €3 —  Zg.
CZ 1.562 — 15w2+ T2
w1 =04+ €1 +2.25¢€9 —2.25w9 — 0.5 29
1 =0 +0.25 €9 —0.25wo — 0.5 29
wz =1 + €3 — 9.
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Chapter 14
Network Flow Problems

Page 211, “Hence, arc (f,c) must enter the spanning tree” should read “Hence,
arc (f,b) must enter the spanning tree”.
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